

# THE INSTITUTE OF STATISTICS

THE CONSOLIDATED UNIVERSITY  
OF NORTH CAROLINA



Characterizations of the Exponential Distribution  
by Relevation Type Equations

by

E. Grosswald and Samuel Kotz  
Temple University, Philadelphia

and

N.L. Johnson  
University of North Carolina at Chapel Hill

Institute of Statistics Mimeo Series #1218

March 1979

DEPARTMENT OF STATISTICS  
Chapel Hill, North Carolina

CHARACTERIZATIONS OF THE EXPONENTIAL DISTRIBUTION  
BY RELEVATION TYPE EQUATIONS

By

E. Grosswald  
Samuel Kotz

Temple University, Philadelphia

and

N.L. Johnson  
University of North Carolina at Chapel Hill

Abstract

In this note two characterizations of the exponential distribution are discussed, based on a generalization of the lack of memory property. These results were motivated by the notion of "relevation of distributions" introduced by Krakowski (1973).

Key words: exponential distribution; characterization; relevation; convolution; power series expansion; Laplace transform; non-negative random variables; replacement procedures.

1. Definitions

If the random variables  $Y_1, Y_2$  with survival distribution functions (SDF's)

$$\Pr[Y_i > t] = S_i(t) \quad (i=1,2)$$

(with  $S_i(0) = 1$ ) are mutually independent, then the SDF of  $T = Y_1 + Y_2$  is

$$\Pr[T > t] = S_1(t) - \int_0^t S_2(t-x) dS_1(x) . \quad (1)$$

This is the *convolution* of  $S_1(t)$  and  $S_2(t)$ .

If, now, we think of  $S_1(t)$  as the SDF of an item placed in service at time  $t = 0$ , and  $S_2(t)$  as the SDF of an item placed in storage at time  $t = 0$  and chosen independently from survivors in storage to replace the first item when it fails, then the SDF of the time of failure ( $T'$ ) in service of the second item is

$$\Pr(T' > t) = S_1(t) - \int_0^t [S_2(t)/S_2(x)] dS_1(x) . \quad (2)$$

The first term on the right-hand side corresponds to survival in service of the first item; the second, to failure of the first, followed by survival of the replacement till time  $t$ . Formula (2) was given by Krakowski (1973) who termed it the *relevation* of  $S_1(t)$  and  $S_2(t)$ . Note that, in general, the relevation of  $S_1(t)$  and  $S_2(t)$  differs from that of  $S_2(t)$  and  $S_1(t)$ . For convolution, however, there is no difference.

We can write  $T' = Y_1 + Y'_2$  where  $Y_1$  is the failure time of the first item, and  $Y'_2$  is the time in service of the second item (from replacement to failure).

## 2. Relevation and Convolution

If  $Y'_2$  were independent of  $Y_1$ , then the relevation of  $S_1(t)$  and  $S_2(t)$  would be identical with their convolution. This will certainly be so, whatever  $S_1(t)$  be, if  $S_2(t) = \exp(-\lambda t)$  with  $\lambda > 0$ . It will also be so, if  $S_1(t)$  corresponds to a discrete distribution taking only positive integer values, and  $S_2(t)$  corresponds to a geometric distribution with

$$\Pr[Y_2 = n] = (1-\theta) \theta^{n-1} \quad (n=1,2,\dots) .$$

This is because this distribution has a 'lack of memory' property

$$P(Y_2=t+n|Y_2>t) = (1-\theta)^{-1} \theta^{n-1} = P(Y_2=n) \quad (t, n=1, 2, \dots)$$

(since  $P(Y_2>t) = (1-\theta)^{-1} \theta^t(1+\theta+\dots) = \theta^t$  and  $P(Y_2=t+n) = (1-\theta)^{-1} \theta^{t+n-1}$ )  
analogous to that of the exponential distribution.

We will show that if  $S_2(t)$  is not only continuous but can be expressed in the form of a power series

$$S_2(t) = 1 + \sum_{j=1}^{\infty} a_j t^j \quad (3)$$

then relevation and convolution of  $S_1(t)$  and  $S_2(t)$  are identical only if  $S_2(t) = \exp(-\lambda t)$ . We do this by taking the special case  $S_1(t) = S_2(t)$ .

We first note that since  $S_2(t)$  is monotonic and bounded, (3) implies that  
(i) the probability density function (PDF) is

$$f_2(t) = -dS_2(t)/dt = \sum_{j=0}^{\infty} (j+1)a_{j+1} t^j,$$

and (ii) inversion of summation and integration over  $[0, t]$  with  $\underline{t}$  finite is justified.

Identity of relevation and convolution requires that the right hand sides of (1) and (2) be identical, that is

$$\int_0^t S_2(t-x) dS_1(x) = S_2(t) \int_0^t \{S_2(x)\}^{-1} dS_1(x). \quad (4)$$

In the special case  $S_1(t) = S_2(t) = S(t)$ , say, this implies

$$\int_0^t S(t-x) dS(x) = S(t) \log S(t). \quad (5)$$

If (3) is valid, then

$$-1 < \sum_{j=1}^{\infty} a_j t^j < 0 \text{ for } t > 0$$

and (with  $a_0=1$ )

$$\begin{aligned}
 S(t) \log S(t) &= \left\{ \sum_{i=1}^{\infty} \frac{(-1)^{i-1}}{i} \left( \sum_{k=1}^{\infty} a_k t^k \right)^i \right\} \sum_{j=0}^{\infty} a_j t^j \\
 &= \sum_{g=1}^{\infty} t^g \sum_{\mu=1}^g a_{g-\mu} \left( a_{\mu} - \frac{1}{2} \sum_{\substack{m_1+m_2=\mu \\ m_i \geq 1}} a_{m_1} a_{m_2} + \frac{1}{3} \sum_{\substack{m_1+m_2+m_3=\mu \\ m_i \geq 1}} a_{m_1} a_{m_2} a_{m_3} - \dots \right).
 \end{aligned} \tag{6}$$

The left hand side of (5) equals

$$\begin{aligned}
 \int_0^t S(t-x) dS(x) &= \int_0^t \left\{ 1 + \sum_{j=1}^{\infty} a_j (t-x)^j \right\} \sum_{h=0}^{\infty} (h+1) a_{h+1} x^h dx \\
 &= \sum_{h=0}^{\infty} \sum_{j=0}^{\infty} (h+1) a_{h+1} a_j B(h+1, j+1) t^{h+j+1} \\
 &= \sum_{g=1}^{\infty} t^g \sum_{h=0}^{g-1} (h+1) a_{h+1} a_{g-h-1} B(h+1, g-h) = \sum_{g=1}^{\infty} t^g \sum_{\mu=1}^g \mu a_{\mu} a_{g-\mu} B(\mu, g-\mu+1).
 \end{aligned} \tag{7}$$

( $B(m, n) = \int_0^1 x^{m-1} (1-x)^{n-1} dx$  is the beta function.)

The coefficients of  $t^g$  in (6) and (7) must coincide. For  $g=1$  we obtain only the trivial condition  $a_1 = a_1$  and we are free to select this coefficient arbitrarily. By equating the coefficients of  $t^2$ , we obtain  $a_2 + \frac{1}{2}a_1^2 = \frac{1}{2}a_1^2 + a_2$ , which is identically satisfied for all choices of  $a_1$  and  $a_2$ . For  $g=3$  we obtain  $a_2 = \frac{a_1^2}{2}$ . In general, for  $g \geq 3$ , the equality of the coefficients of  $t^g$  in (6) and (7) yields

$$\begin{aligned}
 &\left( a_g - \frac{1}{2} \sum_{\substack{m_1+m_2=g \\ m_i \geq 1}} a_{m_1} a_{m_2} + \dots \right) + a_1 \left( a_{g-1} - \frac{1}{2} \sum_{\substack{m_1+m_2=g-1 \\ m_i \geq 1}} a_{m_1} a_{m_2} + \dots \right) + \dots + a_{g-1} (a_1) \\
 &= g a_g B(g, 1) + (g-1) a_{g-1} a_1 B(g-1, 2) + \dots + a_1 a_{g-1} B(1, g).
 \end{aligned} \tag{8}$$

Here the dots stand for terms that contain only coefficients with subscripts less than  $g-1$ . By using also the identities  $gB(g, 1) = gB(1, g) = g(g-1)B(g-1, 2)=1$ , the second member of (8) reduces to  $a_g + (2a_1/g)a_{g-1} + h(a_1, a_2, \dots, a_{g-2})$ .

If we assume that, for a given choice of  $a_1 \neq 0$ , we have already determined  $a_2, \dots, a_{g-2}$  then (8) yields

$$a_g + a_{g-1} \cdot a_1 = a_g + (2a_1/g)a_{g-1} + h(a_1, \dots, a_{g-2}),$$

where  $h(a_1, \dots, a_{g-2})$  is a certain polynomial in the known quantities  $a_1, \dots, a_{g-2}$ . It follows that

$$a_1 a_{g-1} (1 - (2/g)) = h(a_1, \dots, a_{g-2}) \quad (9)$$

and (9) (with  $g=3, 4, \dots$ ) yields unique values for the coefficients  $a_g$ ,  $g \geq 2$ .

In fact, once we know that, given  $a_1 \neq 0$ , (9) leads to unique values for all coefficients of (3), we do not have to determine these coefficients recursively by (9). Indeed, with  $a_n = \frac{a_1^n}{n!}$ ,  $S(t)$  becomes  $e^{at}$  and satisfies (5), as well as  $S(0) = 1$ . Finally, the conditions  $-S'(t) = f(t) \geq 0$  and  $\int_0^\infty f(t)dt = 1$  require that  $a = -\lambda < 0$ , so that  $S(t) = e^{-\lambda t}$  is the unique solution with  $a_1 = S'(0) = -\lambda$ .

### 3. Remarks

Although we have established that the exponential distribution  $S_2(t) = \exp(-\lambda t)$  is the only SDF which makes (1) and (2) identical for all  $S_1(t)$ , among SDF's which can be expressed in power series, there are at least two more general results which, one feels should be valid.

(i) The power series expansion condition could be weakened to require only that  $S_2(t)$  is continuous (and perhaps with a continuous derivative).

(ii) It should be possible to show that under the conditions in (i), if  $S_2(t)$  is not exponential, there is no  $S_1(t)$  for which relevation and convolution are identical. We defer a discussion of these matters to a future paper.

#### 4. Averaged lack of memory property

In a number of papers devoted to characterization of exponential distribution by spacings and order statistics, Ahsannullah (1976-8) investigated variants and extensions of the following equation:

$$\int_0^{\infty} f(x) \left[ \frac{S(x+z)}{S(x)} - S(z) \right] dx = 0 \text{ for all } z \geq 0. \quad (10)$$

One interpretation of this equation is in terms of a weighted (or averaged) lack of memory property, the weight function being the underlying PDF  $f(\cdot)$ .

Another interpretation (in terms of relevations) is that the time in service of the second item (i.e. from replacement of the first item to failure of the second) has the same distribution as the lifetime of individual items chosen at random at time zero. It does not ensure that time in service is *independent* of time of starting in service (i.e. of failure of the first component). Of course, if the latter is true it is obvious that this ensures that distribution of time in service is the same as distribution of individual lifetimes (and indeed it ensures exponentiality).

Ahsannullah derives an exponential solution for these types of equations under the restriction that the underlying density possesses a monotone hazard rate. We shall prove the existence of a unique exponential solution for (10) without any assumptions except the existence of a density  $f(\cdot)$  for the SDF  $S(\cdot)$ . In fact the following result is valid:

Theorem 4.1. If

$$\int_0^{\infty} f(x) \left\{ \frac{S(x+z)}{S(x)} - S(z) \right\} dx = 0 \quad (11)$$

then  $S(x) = e^{-\lambda x}$  for some  $\lambda > 0$ , and  $f(x) = \lambda e^{-\lambda x}$ .

Proof. a) If  $S(x) = e^{-\lambda x}$ , then the large bracket in (11) vanishes so that the functions  $S(x) = e^{-\lambda x}$  are solutions.

b) To prove the converse, let  $S(x)$  be any solution and let  $\lambda$  be an arbitrary positive number. Set  $g(x) = e^{\lambda x} S(x)$ , so that  $S(x) = e^{-\lambda x} g(x)$ . By substitution in (11), we obtain, after routine simplifications

$$\int_0^\infty g(x+z) \left\{ \lambda - \frac{g'(x)}{g(x)} \right\} e^{-\lambda x} dx = g(z) . \quad (12)$$

The right hand member can be written as  $\lambda \int_0^\infty g(z) e^{-\lambda x} dx$  and (12) is equivalent to

$$\int_0^\infty \left\{ \lambda(g(x+z) - g(z)) - \frac{g(x+z)}{g(x)} g'(x) \right\} e^{-\lambda x} dx = 0 . \quad (12)'$$

Set

$$\psi(x, z) = \int_0^x \frac{g(u+z)}{g(u)} g'(u) du . \quad (13)$$

We observe that: (i)  $\psi(0, z) = 0$  for every  $z$ .

(ii) since  $\lim_{x \rightarrow \infty} S(x) = 0$ ,  $g(x) = o(e^{\lambda x})$ .

(iii) from the monotonicity of  $S(x)$ ,

$$\frac{g(u+z)}{g(x)} = e^{\lambda z} \frac{S(u+z)}{S(u)} < e^{\lambda z} .$$

From this it follows, in particular, that

$$\begin{aligned} \psi(x, z) &= \int_0^x \frac{g(u+z)}{g(u)} g'(u) du < A(z) \int_0^x g'(u) du \\ &= A(z) \cdot (g(x) - g(0)) < A(z)g(x) \end{aligned}$$

$$\text{with } A(z) = \limsup_{u \rightarrow \infty} \frac{g(u+z)}{g(z)} < e^{\lambda z}$$

and

$$\lim_{x \rightarrow \infty} e^{-\lambda x} \psi(x, z) \leq \lim_{x \rightarrow \infty} \{A(z)g(x)e^{-\lambda x}\} = A(z) \lim_{x \rightarrow \infty} S(x) = 0 . \quad (14)$$



From (12)' we now obtain, by integration by parts and by use of (13) and (14),

$$\lambda \int_0^{\infty} \{g(x+z) - g(z)\} e^{-\lambda x} dx = \lambda \int_0^{\infty} \psi(x,z) e^{-\lambda x} dx.$$

For  $\lambda \neq 0$ , using the uniqueness of the inverse Laplace transform and the continuity of the functions  $\psi(x,z)$  and  $g(x)$ ,

$$g(x+z) - g(z) = \psi(x,z) .$$

Differentiating with respect to  $x$ , and using (13):

$$g'(x+z) = \frac{\partial \psi(x,z)}{\partial x} = \frac{g(x+z)}{g(x)} g'(x) ,$$

whence

$$\frac{g'(x+z)}{g(x+z)} = \frac{g'(x)}{g(x)}$$

for every  $z$ . It follows that  $\frac{g'(x)}{g(x)}$  is constant, equal to  $c$ , say, where

$\log g(x) = cx + d$ ,  $g(x) = ae^{cx}$  and so the most general function  $S(x)$  is of the form  $S(x) = e^{-\lambda x} g(x) = ae^{-(\lambda-c)x}$ .

Since  $S(0) = 1$ ,  $a = 1$ ; and since  $S(x) \rightarrow 0$  as  $x \rightarrow \infty$ ,  $\mu = \lambda - c > 0$ . Hence  $S(x) = e^{-\mu x}$ ,  $\mu > 0$ .  $\square$

##### 5. Concluding Remarks

We conclude by noting that two methods of solving characterizing equations for an exponential c.d.f. were utilized in this paper. The first is a power series expansion and the second is a Laplace transform representation. To the best of our knowledge, neither one of these methods has been previously utilized in deriving characterizations of exponential distributions, of the kind considered in this paper. This fact may lead to some additional characterizations of this

distribution as well as to alternative proofs of existing characterizations, possibly under milder assumptions.

#### References

- Ahsanullah, M. (1976). On a characterization of the exponential distribution by order statistics, *J. Appl. Prob.* 13, 818-822.
- \_\_\_\_\_ (1977). A characteristic property of the exponential distribution, *Ann. of Statist.*, 5, 580-582.
- \_\_\_\_\_ (1978). A characterization of the exponential distribution by spacings, *J. Appl. Prob.* 15, 650-653.
- Krakowski, M. (1973). The revelation transform and a generalization of the gamma distribution function, *Rev. Française Automat. Informat. Recherche Op.* 7, Sér. V-2, 107-120.

Dr. S. Kotz's research was supported by U.S. Air Force Grant No. 78-3673.

Dr. N.L. Johnson's research was supported by U.S. Army Research Office under Contract NO. DAAG29-77-C-0035.

UNCLASSIFIED

SECURITY CLASSIFICATION OF THIS PAGE (When Data Entered)

REPORT DOCUMENTATION PAGE		READ INSTRUCTIONS BEFORE COMPLETING FORM
1. REPORT NUMBER	2. GOVT ACCESSION NO.	3. RECIPIENT'S CATALOG NUMBER
4. TITLE (and Subtitle) Characterizations of the Exponential Distribution by Relevation Type Equations		5. TYPE OF REPORT & PERIOD COVERED TECHNICAL
7. AUTHOR(s) E. Grosswald, Samuel Kotz, and N.L. Johnson		6. PERFORMING ORG. REPORT NUMBER Mimeo Series No. 1218
9. PERFORMING ORGANIZATION NAME AND ADDRESS Department of Statistics University of North Carolina Chapel Hill, North Carolina 27514		8. CONTRACT OR GRANT NUMBER(s) DAAG-29-77-C-0035
11. CONTROLLING OFFICE NAME AND ADDRESS U.S. Army Research Office Research Triangle Park, NC		10. PROGRAM ELEMENT, PROJECT, TASK AREA & WORK UNIT NUMBERS
14. MONITORING AGENCY NAME & ADDRESS (if different from Controlling Office)		12. REPORT DATE March 1979
		13. NUMBER OF PAGES 9
		15. SECURITY CLASS. (of this report) UNCLASSIFIED
		15a. DECLASSIFICATION, DOWNGRADING SCHEDULE
16. DISTRIBUTION STATEMENT (of this Report)  Approved for Public Release: Distribution Unlimited		
17. DISTRIBUTION STATEMENT (of the abstract entered in Block 20, if different from Report)		
18. SUPPLEMENTARY NOTES		
19. KEY WORDS (Continue on reverse side if necessary and identify by block number) Exponential distribution, characterization, relevation, convolution, power series expansion, Laplace transform, non-negative random variables, replacement procedures.		
20. ABSTRACT (Continue on reverse side if necessary and identify by block number) In this note two characterizations of the exponential distribution are discussed, based on a generalization of the lack of memory property. These results were motivated by the notion of "relevation of distributions" introduced by Krakowski (1973).		